EHT1 VDD1V0

EHIE_VDDWS u12 —Lcs4 —che —chg —Lcm L cus —L —L

C60
0.1uf 16/ 0.1uf 16V 0.1uf16V] o0.uf16v] 0016V uF e 3v_] 10uF 10v
ca8 C36 C32 ca7 VDOD1PO |22 EHTl _VDD1V8
0.1uf 16y 0.1uf16V] o0.auf1ev| 0-01uf 16V 1 vpparo gi beND
VDDIO VDD1PO
30 6
DGND EHTL VDD2VS 41 xgg:g VDD1PO J— —L —Lcu J— —Lcsz
0.01uf 16V
= VDDALPS | 10ur 10y 01uf1§ 0.1uf 16V uF63V
VDDA1P8 .
25 3 100 ohm differential pairs DGND
Tmso Tczz Tcso Tczg 58 VDDA2P5 1 .
10uF 10V |1UF 6.3V | 0.1uf16Y 0.1uf16V VDDA2P5 ETHL TXRXP_A
2 8 ETHL_TXRXM_A 8
DGND g ] 8% ETH1_TXRXP_B g
0/
R92 22,5% 2 \v; ETHI_TXRXM_B 8
5 ETHL_TXCK ))——AAA——=+ GTX_CLK 7
& @) ETH1_TXRXP_C 8
v ETHI_TXRXM_C 8
5 ETH1_TXCTL 370 1x_cTRL 1° ETH1_TXRXP_D 8
ETH1_TXRXM_D 8
R94 10k,1% |I DGND
5 ETH1_TXDO gg TX_DO
5 ETH1_TXD1 S6 TX D1 JTAG_TDI 51— 21
5 ETH1_TXD2 55| TX D2 JTAG_TDO [55—X
5 ETH1_TXD3 TX_D3 JTAG_CLK [—55—X
JTAG_TMS [—=—x
47
LED_0 e——= 5 <see5—> ETHL LED_LINK 8
0 ™26 ETHL_LED_SPEED _LED_|
VCC1vVo EHTL VDDIVO 38 LD 125 . C154 27pf SOV
— 5 ETH1_RXCTL {{——R86—22:6%———=— RX_CTRL LED 2 > ETH1_LED_ACT 8 |'DGND
32
L7 1800hm@100MHz 5 ETHL_RXCK {&—————AA———"+ RX_CLK 16
1 2 mpc |5 ETH_MDC 5
MDIO . » ETH_MDIO 5
44 R100 2.2K,1%
vCeavs EHT1 VDD3V3 . Tt RxDO 3 . NT/PWDN HT1 VDD3V3
= ——————————={ RX.D
L4 1R00hm@100MHz 5 ETHIRXDL G—————— 3% | Ry D1 RESET N -2 ETHL RESET N C151 27pf 50V
5 ETH1_RXD2 {¢——————22-{ RX_D2 15 ||-DGND
5 ETH1_RXD3 {{—————————————— RX_D3 X 2
X_0
Vvecavs EHT1_VDD2V5 - EHT1_VDD3V3
— 18 —
L14 1800hm@100MHz CLK_OUT X R96  1M,1%
1 2 ETHLGPIO 0 39 | . 0
ETHI_GPIO_1 a Y3
ETHLGPIO1 40 | GPIO_1 thermal pad 49 3 R83
2.2K,1%
DP83867IRRGZT
EHT1_VDD3V3 EHT1_VDD3V3 —c153 S ETHLINTN 5
27pf 50V
< =
R8s 5 é DGND i
5.76K,1% Ei DGND EHT1_VDD3V3
EHT1_VDD3V3 R11 D2
330,5%
> ETHLRXCTL 5 >> ETHL_RXDO 5 EHT1 VDD3V3 1 N” 2 ETH1 LED SPEED
R87 Enable Autoneg 8 — — R77 GREEN_0603
2.49K,1% ox 5 5 g ) 10k,1%
s ; ; X X
N _85 85 .80 8
= 2 g [ g D6 RB751S40T1
= = ©z g 8 8 ETHL GPIO 0 ETH1_RESET_N ° opsome
DGND = a a 2  PS_.PORB 2
DGND ETH1_GPIO_1 _POR_
ETH1 LED_SPEED 2 1 < ETH1_RESET 5
_ _ P - C140 |
. i i g g g g > ETH1LED ACT 8 1UF 6.3V D7 DNP (RB751S40T1G)
RXDO is seted mode 2 ,RXD2 is seted mode 1 ,so PHY_ADD is 0001 ° ° X X L
N - 3 3 el
LED_1 is seted mode 1 ,so ANEG_SEL is 0, (10/100/1000M) 3 3 N N ETH1 RESET
S ' n [
RGMII Routing Constraints (Reduced Gigabit Media Independent Interface): § < § < 2 z b z —
The RGMII signals must be length-matched by TX and RX groups. a a o o

That is, the TX group should be matched within 0.25 inch (6.35 mm),
and the RX group should be matched within 0.25 inch (6.35 mm). —
Total length should not exceed 1.75 inch (44.5 mm).
There is no requirement to match the TX and RX groups
because their clocks are not related.
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